Economics 231 – International Trade 


Mid-Term Exam
Spring 2005, LeClair

1. The Ecuadorian economy relies upon seafood and petroleum for much of its exports.  Its near neighbor, Chile, has developed a significant wine industry over the past decade.  The numbers below indicate the amount of wine and seafood produced by each nation utilizing one unit of resources:

Chile

Ecuador




Wine

  30

     10



Seafood
  12

     25
a. Which nation has an absolute advantage in each product?

b. Which nation has a comparative advantage in each?

Part II – Suppose each nation has 200 units of resources.  Under autarky, each nation splits production equally between the two products (100 units each).  What is world output under these circumstances?

Part III – Suppose each nation now specializes according to its comparative advantage.  What is world output now?  Use your numbers to illustrate how world “welfare” is raised under international trade.

2.
The Bush Administration imposed tariffs on imported steel about a year ago to spur domestic production (and to counter “dumping” – a charge the WTO did not support).  Suppose the world price of steel is $550 per ton, and the U.S. market for steel totals 50 million tons (with 30 million tons represented by imports).  If the U.S. tariff is equal to $40 per ton, this reduces total demand to 40 million tons, with imports falling to 15 million tons.   Graphically illustrate this situation, and determine:
a.
What is the total loss in consumer welfare from the imposition of the tariff (a number!)?

b.
What tariff revenue does the government collect?  What part of the loss in a) accrues to domestic producers?

c.
What is the dead-weight loss?

II) 
Compare this outcome to that which would arise if quota was used.  In other words, who would “win” if a constraint was placed on imports?







NEXT->>>>

3.
Chile stands to become the next country admitted to NAFTA.  The breakdown in trade barriers between the U.S. and Chile is likely to produce changes in the patterns of trade.  Suppose that food production is labor-intensive, and automobile production is capital-intensive.  Further suppose that Chile is relatively labor-rich, and the U.S. is relatively capital-rich.

a.
Draw an Edgeworth Box for both the U.S. and Chile for production of food and automobiles.

b.
Carefully label three efficient points of production on your graph.

c.
Trace each of those points over to a well drawn PPC (PPF).  Demonstrate that both nations can be made better off with trade.
